
Order of Operations Worksheet 

Excel 2016 – Basic Formulas 

 

1. 5 + 6 x 2 

 5+12 

Answer = 17 

 

 

 

2. 3 - 6 ÷ 3 x 2 - 2 

 3 – 2 x 2 – 2 

 3 – 4 – 2 

 -1 – 2 

Answer = -3 

3. (4 + 8) ÷ (2 + 1) 

 12 ÷ 3 

Answer = 4 

 

 

 

4. 4 - (3 + 2)2 ÷ 5 

 4 - 52 ÷ 5 

 4 – 25 ÷ 5 

 4 - 5 

Answer = -1 

5. 42 - 3(3-1) x 2 

 16 - 3(2) x 2 

 16 – 9 x 2 

 16 - 18 

Answer = -2 

 

6. 2(3 + 2 x 2) ÷ (20 - 4) 

 2(3 + 4) ÷ 16 

 2(7) ÷ 16 

 128 ÷ 16 

Answer = 8 

7. 3 + (4 + (3 - 1)2 x (10 - 2)) 

 3 + (4 + (2)2 x (8)) 

 3 + (4 + 4 x 8) 

 3 + (4 + 32) 

 3 + 36 

Answer = 39 

 

 

 

 


